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Départ�face�à�la�longueur�du�tapis�:�jbe�G�tendue,�jbe�D�à�D�de�jbe�G,�mi-À�échie,�genou�ouvert,�pied�D�pointé,�bras�G�à�l’horizontale�latérale,�bras�D�À�échi,�main�D�
GHUULqUH�OD�WrWH��7RXV�OHV�GpSODFHPHQWV�VH�IRQW�MEHV�WHQGXHV�VXU�����SRLQWHV (;,*(1&(6�7(&+1,48(6

��� &KRUpJUDSKLH

�� �(IIHFWXHU�XQ�FHUFOH�GX�EUDV�*�GH�EDV�HQ�KDXW�SRXU�DPHQHU�PDLQ�*�
GDQV�OH�GRV

�� ��$PHQHU�PDLQ�'�GHYDQW�OH�WURQF�SRXU�HIIHFWXHU�XQ�FHUFOH�ODWpUDO�GX�
EUDV�'�HW�DPHQHU�PDLQ�'�GDQV�OH�GRV

�� �Mi-À�exion�des�jbes�en�amenant�bras�D�à�l'oblique�AR�basse�et�bras�G�
j�O
REOLTXH�$9�EDVVH��URWDWLRQ�GHV�pSDXOHV�j�'

�� ([WHQVLRQ�GHV�MEHV�HQ�pOHYDQW�OHV�EUDV�j�OD�YHUWLFDOH

��� $75 �

���%UDV�GDQV�OH�SURORQJHPHQW�GX�FRUSV�j�OD�SRVH�GHV�PDLQV�DX�VRO�
�������SW

-�Ecart�des�jbes�non�fait�à�l’ATR�:�SP

�� 6
pWDEOLU�j�OD�����IHQWH�$9��EUDV�GDQV�OH�SURORQJHPHQW�GX�FRUSV

�� %DVFXOHU�j�O¶$75�MEHV�VHUUpHV� SRVLWLRQ�WHQXH

�� 5HYHQLU�j�OD�����IHQWH�$9��EUDV�GDQV�OH�SURORQJHPHQW�GX�FRUSV

��� 5RQGDGH ���

���%UDV�GDQV�OH�SURORQJHPHQW�GX�FRUSV�j�OD�SRVH�GHV�PDLQV�DX�VRO�
�������SW

��/¶HQYRO�GRLW�rWUH�YLVLEOH

��L’envol�doit�se�faire�en�courbe�AV

-�Déplacement�vers�l’AR�:�SP

�� ��SDV��EUDV�j�O
KRUL]RQWDOH�ODWpUDOH��UDVVHPEOHU�OHV�SLHGV

�� Mi-À�exion�des�jbes�en�amenant�les�bras�à�l'oblique�AR�basse

�� 6XUVDXW�URQGDGH,�réception�jbes�mi-À�échies,�bras�libres

��� 6DXW�FDEULROH���DUDEHVTXH �

��-EH�OLEUH�HQWUH������HW�������63
�������������SW

�� ���RX���SDV��EUDV�j�O
KRUL]RQWDOH�ODWpUDOH��LPSXOVLRQ�GH�OD�MEH�*��pOHYHU�
OD�MEH�'�j�O
REOLTXH�$9��VDXW�FDEULROH),�bras�libres

�� 5DVVHPEOHU�SLHG�'�GHYDQW�SLHG�*��EUDV�j�O
KRUL]RQWDOH�ODWpUDOH

�� (OHYHU�MEH�*�j�O
REOLTXH�$5��VLPXOWDQpPHQW�

�� �)OpFKLU�MEH�'�HQ�PDLQWHQDQW�OD�MEH�*�HQ�$5��DUDEHVTXH��SRVLWLRQ�
WHQXH
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0,5
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��� ����WRXU�VXU���MEH�������WRXU�VXU���SLHGV� �

�� ���RX���SDV��V
pWDEOLU�j�OD�����IHQWH�$9�'��EUDV�*�j�O
KRUL]RQWDOH�ODWpUDOH���
EUDV�'�j�O
KRUL]RQWDOH�$9�HQ�FRXURQQH

�� �(IIHFWXHU�XQ�����WRXU�VXU�MEH�'��SLHG�*�SRLQWp�j�OD�MEH�'��EUDV�OLEUHV���
SRVHU�SLHG�*�GHYDQW�

�� (IIHFWXHU�XQ�����WRXU�VXU���SLHGV��VXU�����SRLQWHV��EUDV�OLEUHV

0,5

0,5

��� 6DXW�pFDUW�DQWpURSRVWpULHXU���VDXW�YHUWLFDO� �

6DXW�pFDUW�DQWpURSRVWpULHXU

��(FDUW�GHV�MEHV�V\PpWULTXH�SDU�UDSSRUW�j�OD�YHUWLFDOH��������SW

180°

120°

90°60°

�6L�pFDUW !������� 63

�6L�pFDUW�HQWUH ����HW������������ SW

�6L�pFDUW�HQWUH ����HW������������SW

�6L�pFDUW ��������pOpPHQW�QRQ UHFRQQX

�� ���SDV��EUDV�j�O
KRUL]RQWDOH�ODWpUDOH��UDVVHPEOHU�OHV�SLHGV

�� Mi-À�exion�des�jbes,�bras�à�l'oblique�AR�basse

�� 6DXW�pFDUW�DQWpURSRVWpULHXU,�réception�jbes�mi-À�échies,�pieds�
GpFDOpV��EUDV�OLEUHV��VDQV�DUUrW

�� 6DXW�YHUWLFDO,�réception�jbes�mi-À�échies,�bras�libres

0,5

0,5

��� *UDQG�pFDUW�DQWpURSRVWpULHXU� ���

-�Le�grand�écart�doit�être�dans�l’axe

�

��
�6L�pFDUW�!��������63

�6L�pFDUW�HQWUH������������������SW

�6L�pFDUW�HQWUH�����������������SW

�6L�pFDUW���������pOpPHQW�QRQ��������������������������������������������������������������������������������
UHFRQQX���������������

�� ��SDV��EUDV�j�O
KRUL]RQWDOH�ODWpUDOH

�� ���SDV�VDXWp�GX�SLHG�'�SRXU�DUULYHU�j�OD�SRVLWLRQ�DFFURXSLH��SLHG�'�
devant�pied�G,�simultanément,�À�exion�des�bras,�mains�au�niveau�de�la�
SRLWULQH��SDXPHV�IDFH�DX�VRO�

�� �3RVHU�JHQRX�*�HW�JOLVVHU�DX�JUDQG�pFDUW�DQWpURSRVWpULHXU�'��EUDV�j�
O
KRUL]RQWDOH�ODWpUDOH��DYHF�RX�VDQV�OHV�PDLQV��SRVLWLRQ�WHQXH

�� �5HVVHUUHU�MEH�*�j�MEH�'�DX�VLqJH��EUDV�WHQGXV�j�O¶REOLTXH�$5�EDVVH��
GRLJWV�SRVpV�DX�VRO

�� (OHYHU�OHV�MEHV�j�O¶REOLTXH�$9�KDXWH

�� �Fléchir�jbe�D�et�s’établir�à�genou�D�dressé,�jbe�G�À�échie�à�90°�en�AV,�
EUDV�j�O¶KRUL]RQWDOH�ODWpUDOH�

�� 6H�UHGUHVVHU

��Ê0(�'(*5e��68,7(�
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��� 6RXSOHVVH�$5�28�URXODGH�$5�MEHV�WHQGXHV ��RX����

6RXSOHVVH�$5

-�Ecart�des�jbes�maximum�au�passage�à�l’ATR

5RXODGH�$5

��/HV�PDLQV�GRLYHQW�rWUH�SRVpHV�HQ�$5�GH�OD�WrWH

-�Flexion�des�jbes�dans�la�descente�:�SP

6RXSOHVVH�$5
�� 3RLQWHU�SLHG�HQ�$9�HQ�pOHYDQW�OHV�EUDV�GDQV�OH�SURORQJHPHQW�GX�FRUSV

�� �6RXSOHVVH�$5��DUULYpH�HQ�����IHQWH�$9��EUDV�GDQV�OH�SURORQJHPHQW�GX�
FRUSV

28�5RXODGH�$5
�� �5DVVHPEOHU�OHV�SLHGV�HQ�pOHYDQW�OHV�EUDV�GDQV�OH�SURORQJHPHQW�GX�

FRUSV

�� �5RXODGH�$5��EUDV�WHQGXV��GRLJWV�WRXUQpV�YHUV�O
LQWpULHXU��GpSDUW�MEHV�
WHQGXHV�VHUUpHV��DYHF�RX�VDQV�SRVH�GHV�PDLQV��DUULYpH�MEHV�WHQGXHV��
EUDV�GDQV�OH�SURORQJHPHQW�GX�FRUSV

2

1,5

��� &KRUpJUDSKLH

�� �1�ou�2�pas,�bras�à�l'horizontale�latérale,�amener�jbe�D�à�côté�de�jbe�G,�
jbe�D�mi-À�échie,�pied�D�pointé,�genou�ouvert,�simultanément,�À�échir�
EUDV�'��PDLQ�'�GHUULqUH�OD�WrWH

��Ê0(�'(*5e��68,7(�


